Maths 9.9.22
Place value
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Description automatically generated]
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Description automatically generated with medium confidence]

3.
[image: Graphical user interface, text, application, chat or text message

Description automatically generated]
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« Hereis a part-whole model.
Complete the sentences.

The whole i

One partis

The other part is
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* Match the partitions to the numbers.

20+19 10+4 40+0 90+3
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« Draw base 10 in a part-whole model to show the number.

Complete the number sentence.

= +
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« Complete the sentences.

» 67 has tens and

» 91has tens and
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The position of 25
is the same on each
number line.

Do you agree with Tiny?

Explain your answer.





